NId 3QIS LNN L3AIY 3M
SHEE I

V0Ll ~VOGEE

PR5-50A-039

1O
ﬁw.oaj < §
g . N L 250
% =6
t
MIRE edamu
l-s.ao

3.70

r‘12.70—‘

LQDUJ 2-1.50

FARS¥(Technical Data)

PR5-60A-006

|
i
—]

——10.50—=

0.80 I
£CR LAYOT ¥

M4 EAE I——s.sna

[ 4854851
==
3
ot
a7

|

6.50

-

L—

&)
LT

$# RS (Technical Data)

I-—ts.ﬂﬂﬁ
I-—IE 00—
J_L
3.00

PR5-60A-007

1800—-[ E.qu 7—5,50-°I
— C )
—

L@

iB  E(Center Space) 1.50*9.0mm
#iErEifi(Rated Current) S0A
TEZABET(Screw) M3
1284 F (Terminal Body) Brass, Tin Plated
$REHAKE(Screw Torque) 61df-in
PR5-60A-053

1B BE(Center Space) 2.5x9.7mm

e fift(Rated Current) 60A

[E£2424T(Screw) M4

124E T (Terminal Body) Brass, Tin Plated

#E4THI4E(Screw Torque) 141bf « in
PR5-80A-014

L—9.70—3ﬂﬂ

#HARE#(Technical Data)
i8] E(Center Space) 2.5x9.7mm
§fiz2 Bif(Rated Current) 60A
[E£%9R4T(Screw) M4
124§ 5% F (Terminal Body) Brass,Tin Plated
#24THA4E(Screw Torque) 14 Ibf + in

PR5-80A-015

M5 BFEF

PCBiR/IEZinFiTik. BIESHKEE, HEBRESRS, RAITHEHE

PR5-110A-004

14.00°

3
M) 2
|
®| |
Y
L 1

L

FARS¥i(Technical Data)

PR5-110A-001

b 1 l ’ I ]
2
N 3 I 8 2 8
L | o N 8 o T a
200 J :430—'34_{5200 L ¥ l_= = !
s Lyzd 47200 ool I——u.sa—-l 2-5.00
B ARE#(Technical Data) H RS ¥ (Technical Data) #H RS ¥ (Technical Data)
@ #B(Center Space) 2.0*10.0mm /8  BE(Center Space) 8.0x11.2mm @  BB(Center Space) 5.0x11.5mm
FEFER(Rated Current) 60A #Egif(Rated Current) 80A #i2 Bifi(Rated Current) 80A
JEZIE5T(Screw) M4 [E£:484T(Screw) M5 [E£:H84T(Screw) M5
YRR F(Terminal Body) Brass, Tin Plated 1248 F(Terminal Body) Brass,Tin Plated 12 4ZF(Terminal Body) Brass,Tin Plated
$RE3HAKE(Screw Torque) 14 1df - in #24THI%E(Screw Torque) 241bf - in #4446 (Screw Torque) 24 1bf - in

18  B5(Center Space) 3.0x14mm

&iEraift(Rated Current) 110A

[E£%484T(Screw) M5

124E 1 F (Terminal Body) Brass,Tin Plated

#B4TH4E(Screw Torque) 24 Ibf - in
PR5-50A-008

0.80
#2480 FA 11,20
' 1
l () 8 S
§ N | L I

o201 430 4.50

H# RS % (Technical Data)

019/

[  B5(Center Space) 4.5x9.2mm
#fiEraifi(Rated Current) 50A
[EL88£T(Screw)

12 $E T (Terminal Body) Brass,Tin Plated
4R4TH45(Screw Torque)

4511
9 Ij-j
25
3 A
ml_Las
‘,Eﬁg PCB LAYOUT
flamy | |
SR | |
I N 3 o
|
= F
12.0 4.5
B ARSH(Technical Data)
i8] ¥&(Center Space) 3.0x12.0mm
e raifi(Rated Current) 110A
[E£484T(Screw) M5
2% ¥ F(Terminal Body) Brass, Tin Plated
424TH45(Screw Torque) 241bf - in

A +4{ZPCS |

[

/020

NId 3AIS LNN L3AIM 3M
VOLL~VOSEREHEE 30

VOSEREISEcHNE DY

Nid 3dIS d3dv3y¥HL NON 3T0H HONOYHL O



